2003 8€ QT
B N ol 7 (1 olyals
T | A Al Lt 01 (214 /kat)
A 92,057 | 267,423 | 136,035 | 131,388 | 15,272.59
HEt1S | 4,706 | 14,145 7,020 7,125 | 28,867.35
g2 35| 5,297 | 14,966 7,481 7,485 | 23,755.56
et as | 7,327 | 22,718 | 11,394 | 11,324 | 28,756.96
HAH1S | 5,787 | 17,088 8,788 8,300 | 24,411.43
HlA2.35| 6,042 | 16,957 8,653 8,304 | 34,606.12
HAHME | 4,265 | 12,036 6,041 5,995 | 30,861.54
H&t 52 | 3,900 | 11,131 5,765 5,366 | 41,225.93
HAH6S | 3,592 | 10,536 5,238 5,298 | 37,628.57
H& 7= | 6,893 | 18,506 9,659 8,847 | 6,957.14
He| 1S | 4,438 | 12,884 6,549 6,335 | 33,905.26
He| 2= | 3,555 | 10,345 5,198 5,147 | 44,978.26
He| 3= | 6,537 | 18,926 9,714 9,212 | 28,675.76
Hel 4= | 7,873 | 22,419 | 11,266 | 11,153 | 31,576.06
He| 55 | 3,576 | 10,640 5,428 5,212 | 17,442.62
Ho| 65 | 4,488 | 13,484 7,053 6,431 | 14,817.58
MZ0|Z | 8,766 | 26,473 13,522 | 12,951 3,957.10
eitf = | 5015 | 14,169 7,266 6,903 | 22,853.23
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